Com-Fab Trailers: Canoe/Kayak Kit Assembly Instructions

Crossbar Assembly: Tie Down Assembly:
(A) 2 x Canoe/Kayak Crossbar - 2"x2" Square Galvanized Tubing (H) 4 x 3/8"-16 x 1" Turned Eye Bolt w/ Overall Length of 2.5"

C) 2 x Mounting Bracket - 2" Channel w/ 1/2" Hexagonal Holes (1) 8 x 3/8" Diameter Hole USS Flat Washer, Galvanized
D)4 x1/2" -13 Thread x 1.5" Grade 5 Hex Head Bolt, Zinc (J) 8 x 3/8"-16 Jam Nuts, Zinc

(
(
(E) 4 x 1/2" - 13 Thread Serrated Flange Hex Nut, Zinc
(F) 4 x U-Bolt 3/8-16x2.06x2.88, Zinc
(
(

G) 8 x 3/8" - 16 Thread Serrated Flange Hex Nut, Zinc
Q) 4 x Plastic Plug - 2"x2" for 14-20 Gauge Thickness 2IN Square Tubing, Medium Blue

s % 8% q ﬁ q ﬁ
oK llel (D) (D)
(H) (1) (H(Q) O (F) (F)

0 0
@— 8] |8 o ~ T oD oD O o
(0) (C) (E) (E) (G) (G) (G) (G)

° (A) °

| B

=l

(O)
\ (B)
Upright Assembly: (L) (L) (K) (K)
(B) 2 x Canoe/Kayak Upright Bar - 2" x 2" Square Gavanized Tubing r r /
(K) 2 x U-Bolt 3/8-16x3.06x4.5, Zinc *For 3 Inch Wide Tubing
(L) 4 x U-Bolt 7/16-14x2.06x4.31, Galvanized *For 1.5-2.0 Inch Wide Tubing
(G) 4 x 3/8" - 16 Thread Serrated Flange Hex Nut, Zinc *For 3 Inch Wide Tubing
(M) 8 x 7/16" - 14 Thread Tri-Lock Axle Hex Nut, Galvanized
(N) 8 x 1/2" SAE Flat Washer, Galvanized ={N}= =(N}= Ny (N
(O) 2 x Plastic Plug - 2"x2" for 14-20 Gauge Thickness 2IN Square Tubing, Medium Blue (G) (G) (G) (G)
T Limij jimi) Limi) imi} o 1II imi)

Crossbar Assembly

b :;‘.;.u_a.;_f;:i**f;.# s #[E} X2
P / D) x2
@ /'
A4
@ : “‘fi} >(G) x4
x L~ T {fy k\@
@

Tie Down Assembly

(For Crossbar)

(H) x 1 —— /N o
| -
) ,-*‘,-"#'f \,}\
(J) x 2 7 7N (G) x4
— -~ y
“} X 2 ,--'J':t—:) a-"'fpf .--"'-:I il II,.-‘IPHH‘& /
. - - (M) x4 -

L o g ~ . / . @&, _(N)x4

%h“*h ,--f’f ~ - i T 'I — IE::‘J /

- ,_f"f'f ll o ' I ~ - (= @ H::T{h

[RH:E:HHH J:lr ' ) | . I"‘:"-?m ::u: . ~ = i -
[ . A .

-
%
T i ]
" s e
1 |




